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ORDERING INFORMATION		 Model : MFS2
PLEASE FILL IN THIS SECTION FACTORY USE ONLY

Model Job No. Inspected by:

Company Ser No.                         –

Name Sales Inspected by:

P/O No.

➠➠➠ ➠➠
 

➠➠➠

1. I/O CHARACTERISTICS	 The outputs are provided as linear signal connecting two points specified in the table below.
		  Fill in blank sections enclosed with the bold line.

INPUT OUTPUT SELECTABLE RANGE FACTORY DEFAULT SETTING

OUTPUT 1
X11 % Y11 %

0.00 to 100.00%

X11 =     0.00%, Y11 =     0.00%

X12 % Y12 % X12 = 100.00%, Y12 = 100.00%

OUTPUT 2
X21 % Y21 % X21 =     0.00%, Y21 =     0.00%

X22 % Y22 % X22 = 100.00%, Y22 = 100.00%

OUTPUT 3
X31 % Y31 % X31 =     0.00%, Y31 =     0.00%

X32 % Y32 % X32 = 100.00%, Y32 = 100.00%

OUTPUT 4
X41 % Y41 % X41 =     0.00%, Y41 =     0.00%

X42 % Y42 % X42 = 100.00%, Y42 = 100.00%

2. OUTPUT LIMIT	 High limit ≥ Low Limit
	 Fill in blank sections enclosed with the bold line.

OUTPUT LIMIT SELECTABLE RANGE FACTORY DEFAULT SETTING

OUTPUT 1
H1 %

0.00 to 100.00%

H1 = 100.00%

L1 % L1 = 0.00%

OUTPUT 2
H2 % H2 = 100.00%

L2 % L2 = 0.00%

OUTPUT 3
H3 % H3 = 100.00%

L3 % L3 = 0.00%

OUTPUT 4
H4 % H4 = 100.00%

L4 % L4 = 0.00%

3. FIXED OUTPUT	 High limit ≥ Fixed output ≥ Low limit
	 Fill in blank sections enclosed with the bold line or mark ❑ with ✔.

FIXED OUTPUT SELECTABLE RANGE FACTORY DEFAULT SETTING

OUTPUT 1

Contact input ❑ Applied ❑ Not applied N/A Not applied

Trigger condition ❑ Open ❑ Closed N/A Open

Fixed output Y1S % 0.00 to 100.00% Y1S = 0.00%

OUTPUT 2

Contact input ❑ Applied ❑ Not applied N/A Not applied

Trigger condition ❑ Open ❑ Closed N/A Open

Fixed output Y2S % 0.00 to 100.00% Y2S = 0.00%

OUTPUT 3

Contact input ❑ Applied ❑ Not applied N/A Not applied

Trigger condition ❑ Open ❑ Closed N/A Open

Fixed output Y3S % 0.00 to 100.00% Y3S = 0.00%

OUTPUT 4

Contact input ❑ Applied ❑ Not applied N/A Not applied

Trigger condition ❑ Open ❑ Closed N/A Open

Fixed output Y4S % 0.00 to 100.00% Y4S = 0.00%


